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Theorem	
   3.41	
  	
  Given	
  {an}	
  and	
  {bn}	
  (could	
  be	
  complex),	
  let	
  An	
  =	
  

€ 

akk=0

n

∑ 	
  
	
   	
   and	
  define	
  A–1	
  =	
  0.	
  	
  Then	
  for	
  p,	
  q	
  ∈	
  ! 	
  where	
  p	
  <	
  q,	
  we	
  have	
  
	
   	
  

€ 

anbnn= p

q
∑ = An (bn − bn+1)n= p

q−1
∑ + Aqbq − Ap−1bp .	
  

Theorem	
   3.42	
  	
  Consider	
  {an}	
  ⊂	
  " 	
  and	
  {bn}	
  ⊂	
  # +∪{0}.	
  	
  Suppose	
  
	
   	
   (a)	
  	
  the	
  partial	
  sums	
  An	
  of	
  {an}	
  form	
  a	
  bounded	
  sequence;	
  
	
   	
   (b)	
  	
  b0	
  ≥	
  b1	
  ≥	
  $ ;	
  and	
  (c)	
  

! 

lim
n " #

bn = 0 .	
  	
  Then	
  ∑anbn	
  converges.	
  
Theorem	
   3.43	
  	
  If	
  (a)	
  b0	
  ≥	
  b1	
  ≥	
  $ 	
  ,	
  and	
  (b)	
  

! 

lim
n" #

bn = 0 ,	
  then	
  

€ 

(−1)n bnn=1

∞

∑ is	
  convergent.	
  
Theorem	
  	
   3.44	
  	
  Suppose	
  that	
  R	
  =	
  1,	
  c0	
  ≥	
  c1	
  ≥	
  $ ,	
  and	
  

! 

lim
n " #

cn = 0,	
  then	
  	
  
	
   	
  

€ 

cnz
n

n=0

∞

∑ 	
  converges	
  ∀	
  z	
  ∈	
  " 	
  with	
  |z|	
  =	
  1,	
  except	
  possibly	
  at	
  |z|	
  =	
  1.	
  
Theorem	
   3.47	
  	
  (a)	
  	
  If	
  

€ 

ann=1

∞

∑ 	
  and	
  

! 

bnn=1

"# 	
  are	
  convergent	
  then	
  

€ 

an + bn( )
n=1

∞

∑ 	
  is	
  convergent.	
  

	
   	
   (b)	
  	
  If	
  

€ 

ann=1

∞

∑ 	
  is	
  convergent	
  and	
  c	
  ∈	
  " ,	
  then	
  

! 

cann=1

"# 	
  is	
  convergent.	
  
Definition	
   3.48	
  Product	
  of	
  a	
  series	
  
Theorem	
   3.50	
  	
  Suppose	
  

€ 

ann=1

∞

∑ 	
  =	
  A,	
  

€ 

bnn=1

∞

∑ 	
  =	
  B,	
  and	
  

€ 

ann=1

∞

∑ 	
  is	
  absolutely	
  	
  
	
   	
   convergent,	
  then	
  the	
  product	
  of	
  the	
  series	
  

€ 

cnn=1

∞

∑ 	
  as	
  defined	
  above	
  
	
   	
   is	
  convergent	
  and	
  

€ 

cnn=1

∞

∑ =	
  AB.	
  
	
  

&'%"(%) 	
   *+*, 	
  	
  For	
  the	
  power	
  series

€ 

cnz
n

n=0

∞

∑ ,	
  let	
  α	
  =	
  

€ 

lim
n→∞

sup cn
n 	
  and	
  R	
  =	
  1/α.	
  

	
   	
   (If	
  α	
  =	
  0,	
  R	
  =	
  +∞;	
  if	
  α	
  =	
  +∞,	
  R	
  =	
  0)	
  	
  	
  
	
   	
   Then	
  

€ 

cnz
n

n=0

∞

∑ 	
  converges	
  for	
  all	
  z	
  ∈	
  " 	
  with	
  |z|	
  <	
  R.	
  
	
   	
   R	
  is	
  called	
  the	
  radius	
  of	
  convergence.	
  
	
  

-./)01%2 	
   345	
  	
  For	
  

! 

zn
n=0

"# ,	
  cn	
  =	
  1,	
  α	
  =	
  1,	
  R	
  =	
  1.	
  	
  So	
  then	
  for	
  |z|	
  <	
  1,	
  

! 

zn

n=0

"# =
1
1$ z

.	
  

	
   	
   365	
  	
  For	
  

€ 

zn

n!n=0

∞

∑ ,	
  cn	
  =	
  

€ 

1
n!
.	
  	
  	
   	
   	
  

	
   	
  
  

€ 

1
n!

n =
1

1• 2 • • (k −1)n k • (k +1) • • nn
≤

1
(k −1)!n

• 1

k
n−k
n

.	
  

	
   	
  

€ 

lim
n→∞

sup 1
n!

n ≤ lim
n→∞

sup 1
(k −1)!n

• 1

k
n−k
n

=
1
k
.	
  	
  	
  ???	
  

	
   	
   3*5	
  	
  For	
  

€ 

n!zn
n=0

∞

∑ ,	
  cn	
  =	
  n!,	
  α	
  =	
  +∞,	
  so	
  R	
  =	
  0.	
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   78))/$9"#:;<:=/($2 :

&'%"(%) 	
   *+>4	
  	
  Given	
  {an}	
  and	
  {bn}	
  (could	
  be	
  complex),	
  let	
  An	
  =	
  

! 

akk=0

n" 	
  
	
   	
   and	
  define	
  A–1	
  =	
  0.	
  	
  Then	
  for	
  p,	
  q	
  ∈	
  ! 	
  where	
  p	
  <	
  q,	
  we	
  have	
  
	
   	
  

€ 

anbnn= p

q
∑ = An (bn − bn+1)n= p

q−1
∑ + Aqbq − Ap−1bp .	
  

	
   	
   =(""? :	
  	
  Can	
  read	
  it	
  in	
  the	
  text.	
  
	
  
&'%"(%) 	
   *+>6	
  	
  Consider	
  {an}	
  ⊂	
  " 	
  and	
  {bn}	
  ⊂	
  # +∪{0}.	
  	
  Suppose	
  
	
   	
   3/5	
  	
  the	
  partial	
  sums	
  An	
  of	
  {an}	
  form	
  a	
  bounded	
  sequence;	
  
	
   	
   3;5	
  	
  b0	
  ≥	
  b1	
  ≥	
  $ ;	
  and	
  3@5	
  	
  

€ 

lim
n→∞

bn = 0 .	
  	
  Then	
  ∑anbn	
  converges.	
  

	
   	
   =(""? :	
  
	
   	
   {An}	
  is	
  bounded	
  ⇒	
  ∃	
  M	
  ∈	
  # +	
  such	
  that	
  ∀	
  n	
  ∈	
  ! ,	
  |An|	
  ≤	
  M.	
  
	
   	
   Let	
  ε	
  >	
  0.	
  	
  Then	
  (b)	
  and	
  (c)	
  give	
  us	
  that	
  	
  

	
   	
   ∃	
  N	
  ∈	
  ! 	
  such	
  that	
  for	
  n	
  ≥	
  N	
  we	
  have	
  bn	
  =	
  |bn	
  –	
  0|	
  ≤	
  

€ 

ε
2M

.	
  

	
   	
   For	
  N	
  ≤	
  p	
  ≤	
  q	
  we	
  have,	
  by	
  Theorem	
  3.41,	
  
	
   	
  

! 

anbnn=p

q" = An (bn # bn+1)n=p

q#1" + Aqbq # Ap#1bp 	
  	
  

	
   	
   ≤

€ 

An (bn − bn+1)n= p

q−1
∑ + Aqbq + Ap−1bp 	
  	
  

	
   	
   ≤

€ 

M (bn −bn+1)n= p

q−1
∑ + bq + bp 	
  

	
   	
   =	
    

€ 

M bp −bp+1 + bp+1 −bp+2 ++ bq−1 −bq + bq + bp 	
  =	
  2Mbp	
  ≤	
  ε.	
  

	
   	
   So	
  then	
  by	
  Theorem	
  3.22	
  (∑an	
  converges	
  ! 	
  " 	
  #	
  >	
  0	
  $	
  N	
  %	
  	
  such	
  that	
  N	
  ≤	
  n	
  ≤	
  m	
  	
  

	
   	
   & 	
  |∑(n,	
  m)ak|	
  ≤	
  #.)	
  we	
  have	
  that	
  ∑anbn	
  converges.	
  
	
  
&'%"(%) 	
   *+>*	
  	
  If	
  (a)	
  b0	
  ≥	
  b1	
  ≥	
  $ 	
  and	
  (b)	
  

! 

lim
n " #

bn = 0 ,	
  then	
  	
  

	
   	
  

€ 

(−1)nbnn=1

∞

∑ is	
  convergent.	
  

	
   	
   =(""? :	
  
	
   	
   Use	
  Theorem	
  3.42	
  with	
  an	
  =	
  

€ 

(−1)n
n=1

∞

∑ .	
  
	
   	
   	
  
&'%"(%) 	
  	
   *+>>	
  	
  Suppose	
  that	
  R	
  =	
  1,	
  c0	
  ≥	
  c1	
  ≥	
  $ ,	
  and	
  

€ 

lim
n→∞

cn = 0,	
  then	
  	
  

	
   	
  

€ 

cnz
n

n=0

∞

∑ 	
  converges	
  ∀	
  z	
  ∈	
  " 	
  with	
  |z|	
  =	
  1,	
  except	
  possibly	
  at	
  |z|	
  =	
  1.	
  

	
   	
   =(""? :	
  
	
   	
   Apply	
  Theorem	
  3.42	
  with	
  an	
  =	
  zn	
  and	
  bn	
  =	
  cn.	
  

	
   	
   Then	
  An	
  =	
  

€ 

zk
k=0

n
∑ =

1− zn+1

1− z
	
  for	
  z	
  ≠	
  1.	
  	
  	
  

	
   	
   And	
  since	
  |1	
  –	
  zn+1|	
  ≤	
  1	
  +	
  |zn+1|	
  ≤	
  2,	
  we	
  have	
  

! 

An =
1" zn+1

1" z
#

2
1" z

.	
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-./)01% 	
   For	
  

! 

1
n +1

zn
n=0

"# ,	
  cn	
  =	
  

€ 

1
n +1

	
  is	
  decreasing,	
  and	
  

€ 

lim
n→∞

cn = 0.	
  	
  	
  

	
   	
   So	
  by	
  the	
  above	
  theorem

! 

1
n +1

zn

n=0

"# 	
  converges.	
  

	
  
	
   	
   A;2"18$%:!"#B%(C%#@%:

D%?9#9$9"#	
  

! 

ann=1

"# is	
  absolutely	
  convergent	
  ⇔	
  

! 

ann=1

"# 	
  converges.	
  
	
  
E"$%	
   	
   Absolute	
  convergence	
  ⇒	
  convergence.	
  
	
   	
  

€ 

ann=1

∞

∑ is	
  conditionally	
  convergent	
  if	
  it	
  is	
  convergent	
  but	
  not	
  	
  
	
   	
   absolutely	
  convergent.	
  
	
  

-./)01% 	
   For	
  0	
  ≤	
  p	
  ≤	
  1,	
  

! 

(" 1)n
1
n pn=1

#$ 	
  is	
  conditionally	
  convergent	
  as	
  

	
   	
  

€ 

(−1)n 1
n pn=1

∞

∑ =	
  

€ 

1
n pn=1

∞

∑ 	
  which	
  is	
  not	
  convergent.	
  

	
  
	
   	
   AFF9$9"#:/#F:G81$9019@/$9"#:"?:7%(9%2:

&'%"(%) 	
   *+>H::3/5	
  	
  If	
  

! 

ann=1

"# 	
  and	
  

! 

bnn=1

"# 	
  are	
  convergent	
  then	
  	
  

	
   	
  

€ 

an + bn( )
n=1

∞

∑ 	
  is	
  convergent.	
  

	
   	
   3;5	
  	
  If	
  

€ 

ann=1

∞

∑ 	
  is	
  convergent	
  and	
  c	
  ∈	
  " ,	
  then	
  

! 

cann=1

"# 	
  is	
  convergent.	
  
	
   	
   =(""? :	
  
	
   	
   3/5	
  	
  Let	
  ε	
  >	
  0.	
  	
  ∃	
  N	
  ∈	
  ! 	
  such	
  that	
  N	
  <	
  m	
  <	
  m	
  ⇒	
  	
  

	
   	
  

! 

akk=n

m" <
#
2
	
  and	
  

! 

bkk=n

m" <
#
2
.	
  Thus	
  

€ 

ak + bk( )
k=n

m
∑ 	
  ≤	
  

! 

akk=n

m" 	
  +	
  

€ 

bkk=n

m
∑ 	
  <	
  ε.	
  

	
   	
   3;5	
  	
  

! 

ann=1

"# 	
  is	
  convergent	
  ⇒	
  c	
  •

! 

ann=1

"# =	
  

€ 

cann=1

∞

∑ is	
  convergent.	
  
	
  
D%?9#9$9"#	
   *+>I 	
  	
  Given	
  

€ 

ann=1

∞

∑ 	
  and	
  

! 

bnn=1

"# ,	
  we	
  form	
  the	
  Cauchy	
  product,

€ 

cnn=1

∞

∑ 	
  
	
   	
   of	
  the	
  2	
  series	
  as	
  follows:	
  
	
   	
   c1	
  =	
  a0b1	
  +	
  a1b0	
  
	
   	
   c2	
  =	
  a0b2	
  +	
  a1b1	
  +	
  a2b0	
  
	
   	
   In	
  general,	
  cn	
  =	
  

€ 

akbn−kk=0

n
∑ .	
  

	
   	
   So	
  then	
  

! 

anz
n

n=1

"# •

€ 

bnz
n

n=1

∞

∑ =	
  (a0	
  +	
  a1z	
  +	
  a2z2	
  +	
  $ )(b0	
  +	
  b1z	
  +	
  b2z2	
  +	
  $ )	
  
	
   	
   =	
  a0b0	
  +	
  (a0b1	
  +	
  a1b0)z	
  +	
  (a0b2	
  +	
  a1b1	
  +	
  a2b0)z2	
  +	
  $ 	
  
	
   	
   =	
  c0	
  +	
  c1z	
  +	
  c2z2	
  +	
  $ .	
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&'%"(%) 	
   *+JK	
  	
  Suppose	
  

€ 

ann=1

∞

∑ 	
  =	
  A,	
  

€ 

bnn=1

∞

∑ 	
  =	
  B,	
  and	
  

€ 

ann=1

∞

∑ 	
  is	
  absolutely	
  	
  

	
   	
   convergent,	
  then	
  the	
  product	
  of	
  the	
  series	
  

€ 

cnn=1

∞

∑ 	
  as	
  defined	
  above	
  

	
   	
   is	
  convergent	
  and	
  

! 

cnn=1

"# =	
  AB.	
  
	
  
-./)01% 	
   What	
  happens	
  if	
  we	
  don't	
  have	
  absolute	
  convergence?	
  

	
   	
   For	
  an	
  =	
  bn	
  =	
  

€ 

−1( )n

n +1n=0

∞

∑ ,	
  	
  

	
   	
   c0	
  =	
  1	
  

	
   	
   c1	
  =	
  1	
  •	
  

€ 

−
1
2
+	
  

€ 

−
1
2
•	
  1.	
  

	
   	
   c2	
  =	
  	
  1	
  •	
  

€ 

1
3
	
  +	
  

! 

1
2
• 1
2
	
  +	
  

€ 

1
3
•	
  1	
  

	
   	
   cn	
  =	
  

€ 

−1( )n 1
k +1 n − k +1k=0

n
∑ =

! 

" 1( )n 1

n
2

+1
# 

$ 
% 

& 

' 
( 

2

"
n
2

" k
# 

$ 
% 

& 

' 
( 

2k=0

n) 	
  

	
   	
   So	
  |cn|	
  ≥	
  

€ 

1
n
2

+1
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 
2k=0

n

∑ 	
  =	
  

€ 

2
n + 2k=0

n
∑ 	
  =	
  

€ 

2(n +1)
n + 2

.	
  

	
   	
   If	
  

€ 

cnn=1

∞

∑ is	
  convergent,	
  then	
  cn	
  →	
  0.	
  

	
   	
   So	
  then	
  if	
  cn	
  

€ 

/ → 	
  0,	
  then	
  

! 

cnn=1

"# is	
  divergent.	
  

	
   	
   And	
  |cn|	
  ≥	
  

€ 

2(n +1)
n + 2

	
  ⇒	
  cn	
  

€ 

/ → 	
  0.	
  


